
Z41458A4

DRUM GRIP F86146A9

Last Updated: 02/2023

© Valley Craft, Inc. All rights reserved



2

GRIP-AUTO (50A)



3

GRIP-AUTO (50A)



4

GRIP-AUTO (50A)



5

GRIP-AUTO (50A)



6

GRIP-AUTO (50A)



7

GRIP-AUTO (50A)



8

GRIP-AUTO (50A)



9

GRIP-AUTO (50A)



10

GRIP-AUTO (50A)



2

6

1

5

4

8

9

3

(7) UNDER ARM

1018

12

11

14

16

13

17

ITEM NO. PART NUMBER DESCRIPTION QTY

1 F60682A4 F W/LH/50A 1

2 F60681A5 F W/RH/50A 1

3 F60129A5 ARM WLDMT-RH JAW 1

4 F63816A7 JAW WLDMT-3" JAW (BONDED) (STK) 2

5 F60130A2 ARM WLDMT-LH JAW 1

6 F30060A0 PIN-PIVOT/50/NEW STYLE (KAN BAN) 2

7 Z30045A3 SPG-DIE 3/4X1-1/2 BLUE 2

8 F57336A0 LINK-JAW ARM (KAN BAN) 2

9 Z10526A2 BOLT-TEE 3/4-10 x 4-1/4 2

10 Z41464A8 DECAL-T-BOLT 2

11 Z10809A0 S-SHLD 5/16-18 W/3/8X1-14 SHLD 4

12 Z10045A5 NUT-NYL NE 5/16-18 4

13 Z51572A6 S-HHC 3/4-10X1-1/2 1

14 Z10159A7 S-HHC 7/16-14X3 GR5 4

15 Z10215A9 WASHER-7/16 LOCK MD 4

16 Z10019A7 NUT-HEX FULL 7/16-14 4

17 Z10076A7 PIN-SPG 5/16X1-3/8 2

18 Z10199A9 S-THMB 5/16-18X1 2

11

GRIP-AUTO (50A)



VARIES
PER DRUM
DIAMETER

27.75
LC

15.75
LLC

LOAD CENTER SPECIFICATIONS
LOST LOAD CENTER IS A MEASURE OF HOW MUCH "CAPACITY"
OF THE FORKLIFT OR TRUCK IS LOST WHEN AN ATTACHMENT 
IS ADDED.
ADDING/SUBTRACTING SOMETHING TO THE FORKLIFT OR TRUCK
AFFECTS HOW MUCH LOAD IT CAN SUPPORT AND STILL STAY
STABLE. 

31.00

3.00
VCG

11.00
HCG

HCG = HORIZONTAL CENTER OF GRAVITY
LC = LOAD CENTER
LLC = LOST LOAD CENTER
VCG = VERTICAL CENTER OF GRAVITY

12

GRIP-AUTO (50A)






	Cover
	Drawing View4

	Notice
	Contents
	Safety 1
	Safety 2
	SDS
	Description
	OPERATING
	Troubleshooting
	Replacement
	ISOMETRIC/BOM
	Drawing View1

	Load Center
	Drawing View2
	Drawing View3

	Warranty
	Back

